ERXFEIHRARE

FER29F1A S
xRS | XHFEABR | XHEEH XHRE
2 B H29.1.12 10000 =HIAE R ERR
£ & H29.1.14 10,000 X BEAXHAHES R
£ & H29.1.21 5000(VILN—AM L E—HESR
E H29.1.25 10000| REXZEERHFERE
2 B H29.1.28 10,000| RETI7 (24— R20FER S AL E

45,000




ERXFEIHRARE

FER29F 2R %

xRS | XHFEABR | XHEEH XHRE

& H29.2.7 10,000 RERTHERE N E

£ & H29.2.10 10000 REBHEE SRR RESE

2 B H29.2.19 10000| TRAEEGERNMZIENERRE

ZDith H29.2.20 5400| REBREEH D

£ & H29.2.20 10,000 REMATH R R BRIGHER

= & H29.2.23 7000 REMILEHTHMHEMRSERENSBHRESE

52,400




ERXFEIHRARE

FR29%E3RH
XHXD | XHERB | XHEEH ZHAE
REE H29.3.13 10000 TiEE FOHKEETH
Z D H29.3.14 20,000|1TEIEDEBHKE D
E H29.3.16

10,000| REFETF BZRE

RBERHER

40,000




ERXFEIHRARE

FR29F4R 5
XHXD | XHERB | XHEEH ZHAE
= & H29.4.7 6,000 22450 B &kl =
nE H29.4.14 5000 FFMB L FHXAZIE
= B H29.4.20 10000 R ~LYREZEERBEFTERE

21,000




ERXFEIHRARE

FR29%E58 %

XHXD | XHERB | XHEEH ZHAE
REE H29.5.1 10,000\ B+ REBHEFT AR

REE H29.5.1 15,000| B+ REBFEHEETER

= & H29.5.4 10000| A EFY)TA—ITILTRER

= & H29.5.12 10,000| RAERMATH ERERRGRES

& B H29.5.26 5000 REMBE IR BERSBHRESE
nE H29.5.23 10,000( B FHT R#EFE HE

= B H29.5.25 10,000 FERATHBREREEHNEDH
= B H29.5.26 10000 RERATHESBREEHMHRERE
REE H29.5.30 10000 TEERMMERKEFEFTHR

90,000




ERXFEIHRARE

FER29F6 A5

xRS | XHFEABR | XHEEH XHRE

REE H29.6.1 15,000\ TE A B8 R RFEETENR

2 B H29.6.2 6,000 ZEERERRIESE

2 B H29.6.4 5000 EAXZHAB R TRIEXREREFTRRE

ZDfth H29.6.16 1500/ EEHEBREKFEAER

£ & H29.6.16 10000| RESZRERDH

mEE H29.6.21 5000| R4 -EKRFEMITEREE

& H29.6.25 20,000| RAE X EHBRE RS HIGH R E

£ & H29.6.25 10000 REXEVHIFIRERSEHE2E

ZDith H29.6.22 492| BfERAC

86,582




ERXFEIHRARE

FER29F 7R N

xRS | XHFEABR | XHEEH XHRE

£ & H29.7.1 10000 BEHRERREMIIHREE

ZDfth H29.7.7 12,250 T ED BRI R

£ & H29.7.10 10000( RAERBMEE MR

& H29.7.13 5000 REM—WEKAGMAESRARE

£ & H29.7.19 10,000 RERATH R R B R IERFF R O

= B H29.7.21 10000| RESHRERUMRESSE

REE H29.7.21 10000| TEFHT R REEXKEEETH

Z D1t H29.7.24 2500 BRFEEZES BMEATRHTFLEN

69,750




ERXFEIHRARE

FR29F8A N

xRS | XHFEABR | XHEEH XHRE

ZDith H29.8.2 10,000| REBEREATHBERBEHESDH

& H29.8.5 10,000( —EHTHRIE X RS BLE

& H29.8.11 10000 REMBABEFVITAITILIRERNE

& H29.8.12 10,000|6 £S5V RBYREHE

& H29.8.13 5000| tMIEMRARBYENE

& H29.8.17 10,000| KRBT KIE R K=&

£ & H29.8.24 10,000 REMATH B R BRIGHER

65,000




ERXFEIHRARE

FR29F9RH
XHXD | XHERB | XHEEH ZHAE
ZDih H29.9.19 18,000(1TERE D EBREK = DI
= & H29.9.20 13,000(BERETEZEREBR BN BEREBERESRUENES DN
T H29.9.24

5000k EmHDFHRRKEIUNE

36,000




ERXFEIHRARE

FERK29F 1085
XHXD | XHERB | XHEEHE ZHAE
REE H29.10.8 10,000|#8FRBETIRA B FEET R
= & H29.10.9 10000| A EFY) T —ITILTRER
mE H29.10.10 10,000 (R &8 B EERE T K HER
REE H29.10.10 10000|RE/N—ER LB EEETH
= B H29.10.27 10000 REMTEE SRR RESE

50,000




ERXFEIHRARE

FR29F11ASH

xRS | XHFEABR | XHEEH XHRE

£ & H29.11.6 10,000| FEB#HAITIOFFLL SRS

= B H29.11.11 10000 REBZFBRMINES S

& B H29.11.15 10000 REBERINEZEREFTERE

2 B H29.11.17 10000 REBATHELBREERAXBERE

Z Dt H29.11.17 6,000 RETHZERZR EER B ATHES D

ZDith H29.11.21 2,160| & %It

£ & H29.11.22 10,000 REMATH R R BRIGHER

2 B H29.11.22 10000 REMATHERBRSTHREAERE

ZDith H29.11.28 2,160| & %It

70,320




ERXFEIHRARE

FER29F12A%
XHXD | XHERB | XHEEHE ZHAE
= B H29.12.8 15,000 AT E D ERIEER D
= & H29.12.12 6,000 ZEERERRIESE
= B H29.12.18 10,000| RAERMATH ERERRGRES
ZDith H29.12.20 1,192| SR MmEA LK
ZDih H29.12.21 25,790|1TEIEDEBHKE D

57,982




